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Answer: 1 and 3 
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Answer:  1, 3 and 4 
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Answer: 1023 



 

 

 

 

Answer: 3 

 

Answer: 12 

 

 

Answer: 1, 2 and 3 
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Answer: 1 and 4 
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Answer: 0.25 
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Answer: 3 and 4 
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Answer: 1, 3 and 4 

 

Answer: 17160 



 

 

 

Answer: 2 and 3 

Rod can be cut into length of (2, 2, 3) meter with weight of 18. 
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Answer:  MTA 

No option is correct.  

1 is also incorrect if Relation S = {(1,1)(2,2)(3,3)(1,2)(2,1)(2,3)(3,2)} 

This relation is reflexive and symmetric, but not transitive. Therefore S 

is not equivalence relation. 
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Answer: (-7.75)
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Answer: 1, 2 and 3 

 

 

Answer: 51 
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